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Time — Three hourg
(Maxlemum Marks: 75)

N.8: (1) QuNo. & in PART -~ A-and G.No. 16 in PART — B are compulsory.
Answer any FOUR  gquestions from the remaining in ecch PART - A
and PART - B

{2] Answer division (ol or division (&) of each guestion in PART -

13} Foch guestion carries 2 morks v PART - A 3 marks in Part - &
and 10 murrks fs PART - C ]

PART - A
1. State zeroth law of thermodynamics.
2.  List out the different types :::..F units of pressure.
3. Stote Charle's Law.
4. Define compression ratic.
5. Name the application of Pascal's Law.
6. Define ldeal Auld.
7.  Define wetted perimeter.

8. Name the dpplications of SFEE,

PART - B
9. Derive -0, = R.
10. Explain the laws of perfect gas.
11. Compare iscthermal and isentropic process.
12. What are the assumptions in deriving air standard efficiency?
13. Derive the SFEE equation for reciprocating compressor,
14, Define atmospheric pressure and gauge pressure,
15. Compare veniurimeter and orificemeter,

16. Draw a sketch of a Baurden's tube pressure gauge,
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PART - C

A gaos cylinder has got o volume of 0.03m® and indicates a
pressure of 800 kN/m® and temperature of 30°C. Find out the
weight of the gas, if the value of gas constant of the gos is
0.27 ki/kgk.

{Cr}

Explain the three types of thermaodynamic system with an
example.

A gas is compressed isothermolly from o pressure and volume
of 100 kN/m® gnd 0.056m* respectively to o volume of 0.007m?,
Find the finol pressure and the wark done on the gas.

(Or}
Derive the heat transfer for polylrophic process.

Compare the ideal and actual P-V diagrarms.
{Cr)

In a diesel engine with the comparison ratio of 14, IF the fuel
cut off is delayed from 6% to 9% of the stroke. what will be
the loss in ideal efficiency?

Explain with a suitable diogram of a hydroulic press and a
hydroulic jock,

(Or)
Describe with o nect sketch of a diophragm pressure gauge.

Find the flow of water through a 0.4m =< 0.15m venturimeter
when the differential gouge connected in the mouth and throot

is 0.25m of HY, assuming the C is 0.98.
fOr)

Using Chezy's formula, find the head Llost due to friction in o
pipe of 80mm dlameter and Length 35m. The velocity of flow is
zm/s. Take Cis 100,



